# NEW FIXED POINT RESULTS FOR GERAGHTY CONTRACTIONS AND THEIR APPLICATIONS

Barakah Almarri<sup>1</sup>, Samad Mujahid<sup>2</sup> and Izhar Uddin<sup>2,†</sup>

**Abstract** In this paper, we prove existence and uniqueness of fixed point involving Geraghty contraction in a metric space endowed with a binary relation. Moreover, we give an application to periodic boundary value problems regarding to ordinary differential equations (ODE).

**Keywords** Binary relation,  $\mathcal{R}$ -completeness, *d*-self-closedness.

MSC(2010) 47H10, 54H25.

## 1. Introduction

In 1922, Stephen Banach presented the Banach Contraction principle (BCP), a graceful and devoted tool of nonlinear functional analysis. BCP remains a source of inspiration for researchers of this domain. It ensures the existence and uniqueness of the solution. This theorem basically demonstrates that a function defined on a complete metric space  $(\zeta, d)$  satisfying

 $d(\mathcal{T}a, \mathcal{T}b) \leq \eta d(a, b)$  where  $0 \leq \eta < 1$ 

for all  $a, b \in \zeta$ , has a unique fixed point. The key component of the metric fixedpoint theory is the investigation of extension of contraction principles to provide novel and advantageous fixed-point theorems. Owing to the Kannan generalized another contraction principle, which encouraged the researchers to look into more extensions of the contraction principle like Boyd and Wong, Meir-Keeler and several others. The most natural and frequently discussed concept of metric space has been improved and extended the versions, i.e., Partial metric, M-metric, pseudo metric, *G*-metric, *b*-metric and  $m_v$ -metric etc.

Ran and Reurings [15] demonstrated an application to solve matrix equation of the BCP in the context of ordered metric space. Also, more refined version proved by Nieto and López [13] was utilised to solve periodic boundary value problem. The theorems of Nieto and López [13] are further extended by many authors. With an amorphous binary relation instead of partial order, Alam and Imdad devised a fundamental generalisation of the BCP in 2015. In 2017, Ahmadullah et al. [2] introduced relation theoretic principle in metric like space and derived some

<sup>&</sup>lt;sup>†</sup>The corresponding author.

<sup>&</sup>lt;sup>1</sup>Department of Mathematical Sciences, College of Sciences, Princess Nourah Bint Abdulrahman University, P.O. Box 84428, Riyadh 11671, Saudi Arabia

<sup>&</sup>lt;sup>2</sup>Department of mathematics, Jamia Millia Islamia, New Delhi-110025, India Email: bjalmarri@pnu.edu.sa(B. Almarri), mujahidsamad721@gmail.com(S. Mujahid), izharuddin1@jmi.ac.in(I. Uddin)

fixed point results. Soon after, various relation-theoretic results were proposed by several researchers i.e. [3, 5]. Fixed point techniques have very fruitful results in various areas and applications in integral/differential/fractional equations e.g, [6, 7, 11, 14, 18, 21, 22].

The following famous generalization of BCP is due to Geraghty [8].

**Theorem 1.1** ([8]). Let  $(\zeta, d)$  be a complete metric space and  $\mathcal{T} : \zeta \to \zeta$  a map. Assume that  $\exists \gamma \in \mathfrak{H}$ , where  $\mathfrak{H}$  denote the class of functions  $\gamma : [0, \infty) \to [0, 1)$  which satisfy

$$\gamma(d_n) \to 1 \quad \Rightarrow \quad d_n \to 0.$$

Such that for each  $a, b \in \zeta$ ,

$$d(\mathcal{T}a, \mathcal{T}b) \le \gamma(d(a, b))d(a, b).$$

Then,  $\mathcal{T}$  has a unique fixed point  $c \in \zeta$  and  $\{\mathcal{T}^n(a)\}$  converges to c, for each  $a \in \zeta$ .

Amini-Harandi and Emami [9] proved monotone Geraghty contraction in partially ordered metric space and gave the application in ODE. In this paper, we shall extend the fixed point theorems of Amini-Harandi and Emami [9] to a metric space with binary relation. Also, we prove an application of our newly proved results to periodic boundary value problem.

#### 2. Preliminaries

Let's summarize few pertinent concepts and fundamental results which will be referenced in our subsequent discussion:

**Definition 2.1** ([1]). Let  $\mathcal{R}$  be a binary relation on a nonempty set  $\zeta$  and  $a, b \in \zeta$ . We say that a and b are  $\mathcal{R}$ -comparative if either  $(a, b) \in \mathcal{R}$  or  $(b, a) \in \mathcal{R}$ . We denote it by  $[a, b] \in \mathcal{R}$ .

We collect several needed results which are taken from [1-4, 10, 12, 17].

**Definition 2.2.** Let  $\zeta$  be a nonempty set equipped with a binary relation  $\mathcal{R}$  and  $\mathcal{T}$  a self-mapping on  $\zeta$ .

- (1) The inverse or transpose or dual relation of  $\mathcal{R}$ , denoted by  $\mathcal{R}^{-1}$ , is defined by  $\mathcal{R}^{-1} = \{(a, b) \in \zeta^2 : (b, a) \in \mathcal{R}\}.$
- (2) The symmetric closure of  $\mathcal{R}$ , denoted by  $\mathcal{R}^s$ , is defined to be the set  $\mathcal{R} \cup \mathcal{R}^{-1}$ (*i.e.*,  $\mathcal{R}^s := \mathcal{R} \cup \mathcal{R}^{-1}$ ). Indeed,  $\mathcal{R}^s$  is the smallest symmetric relation on  $\zeta$  containing  $\mathcal{R}$ .
- (3)  $(a,b) \in \mathcal{R}^s \iff [a,b] \in \mathcal{R}.$
- (4) A sequence  $\{a_n\} \subset \zeta$  is called  $\mathcal{R}$ -preserving if

$$(a_n, a_{n+1}) \in \mathcal{R} \ \forall \ n \in \mathbb{N}_0.$$

(5) A binary relation  $\mathcal{R}$  defined on  $\zeta$  is called  $\mathcal{T}$ -closed if for any  $a, b \in \zeta$ ,

$$(a,b) \in \mathcal{R} \Rightarrow (\mathcal{T}a,\mathcal{T}b) \in \mathcal{R}.$$

(6)  $\mathcal{R}$  is  $\mathcal{T}$ -closed, then  $\mathcal{R}^s$  is also  $\mathcal{T}$ -closed.

- (7) If  $\mathcal{R}$  is  $\mathcal{T}$ -closed, then for all  $n \in \mathbb{N}_0$ ,  $\mathcal{R}$  is also  $\mathcal{T}^n$ -closed, where  $\mathcal{T}^n$  denotes *n*th iterate of  $\mathcal{T}$ .
- (8) A subset E of  $\zeta$  is called  $\mathcal{R}$ -directed if for each  $a, b \in E$ , there exists  $c \in \zeta$  such that  $(a, c) \in \mathcal{R}$  and  $(b, c) \in \mathcal{R}$ .
- (9) For a, b ∈ ζ, a path of length k (where k is a natural number) in R from a to b is a finite sequence {c<sub>0</sub>, c<sub>1</sub>, c<sub>2</sub>, ..., c<sub>k</sub>} ⊂ ζ satisfying the following:
  (i) c<sub>0</sub> = a and c<sub>k</sub> = b,
  (ii) (c<sub>i</sub>, c<sub>i+1</sub>) ∈ R for each i (0 ≤ i ≤ k − 1).
  Notice that a path of length k involves k + 1 elements of ζ, although they are not necessarily distinct.
- (10) A subset E of  $\zeta$  is called  $\mathcal{R}$ -connected if for each pair  $a, b \in E$ , there exists a path in  $\mathcal{R}$  from a to b. Inspired by Roldán-López-de-Hierro et al. [16], Alam and Imdad introduced the following: (i.e., a notion originated from  $\mathcal{T}$ -transitive subset of  $\zeta^2$  is essentially due to [16]).
- (11) A binary relation  $\mathcal{R}$  defined on  $\zeta$  is called  $\mathcal{T}$ -transitive if for any  $a, b, c \in \zeta$ ,

$$(\mathcal{T}a, \mathcal{T}b), (\mathcal{T}b, \mathcal{T}c) \in \mathcal{R} \Rightarrow (\mathcal{T}a, \mathcal{T}c) \in \mathcal{R}.$$

- (12) A binary relation  $\mathcal{R}$  defined on  $\zeta$  is called locally transitive, if for each (effectively)  $\mathcal{R}$  -preserving sequence  $\{a_n\} \subset \zeta$  (with range  $E = \{a_n : n \in \mathbb{N}\}$ ), such that  $R|_E$  is transitive. Inspired by Turnici [19, 20], Alam and Imdad [4] introduced these notions by localising the transitivity conditions.
- (13) A binary relation  $\mathcal{R}$  defined on  $\zeta$  is called locally  $\mathcal{T}$ -transitive if for each (effectively)  $\mathcal{R}$ -preserving sequence  $\{a_n\} \subset T(\zeta)$  (with range  $E = \{a_n : n \in \mathbb{N}\}$ ), such that R|E is transitive.
- (14) The following result establish the dominance of locally  $\mathcal{T}$ -transitivity over other variants of transitivity:
  - (i)  $\mathcal{R}$  is  $\mathcal{T}$  -transitive  $\Leftrightarrow \mathcal{R}|_{\mathcal{T}(\zeta)}$  is transitive,
  - (*ii*)  $\mathcal{R}$  is locally  $\mathcal{T}$ -transitive  $\Leftrightarrow \mathcal{R}|_{\mathcal{T}(\zeta)}$  is locally transitive,
  - (*iii*)  $\mathcal{R}$  is transitive  $\Rightarrow \mathcal{R}$  is locally transitive  $\Rightarrow R$  is locally  $\mathcal{T}$ -transitive,
  - (*iv*)  $\mathcal{R}$  is transitive  $\Rightarrow \mathcal{R}$  is  $\mathcal{T}$ -transitive  $\Rightarrow \mathcal{R}$  is locally  $\mathcal{T}$ -transitive.

**Definition 2.3** ( [1,2]). Let  $(\zeta, d)$  be a metric space and  $\mathcal{R}$  a binary relation on  $\zeta$ . Then,

- (1)  $(\zeta, d)$  is  $\mathcal{R}$ -complete if every  $\mathcal{R}$ -preserving Cauchy sequence in  $\zeta$  converges.
- (2) If  $\mathcal{T}$  is called  $\mathcal{R}$ -continuous at a if for any  $\mathcal{R}$ -preserving sequence  $\{a_n\}$  such that  $a_n \xrightarrow{d} a$ , we have  $\mathcal{T}(a_n) \xrightarrow{d} \mathcal{T}(a)$ . Moreover,  $\mathcal{T}$  is called  $\mathcal{R}$ -continuous if it is  $\mathcal{R}$ -continuous at each point of  $\zeta$ .
- (3) A binary relation  $\mathcal{R}$  defined on  $\zeta$  is called *d*-self-closed if for any  $\mathcal{R}$ -preserving sequence  $\{a_n\}$  such that  $a_n \xrightarrow{d} a$ , there exists a subsequence  $\{a_{n_k}\}$  of  $\{a_n\}$  with  $[a_{n_k}, a] \in \mathcal{R}$  for all  $k \in \mathbb{N}_0$ .

Given a binary relation  $\mathcal{R}$  and a self-mapping  $\mathcal{T}$  on a nonempty set  $\zeta$ , we use the following notations:

(i)  $F(\mathcal{T})$ =the set of all fixed points of  $\mathcal{T}$ ,

 $(ii) \ \zeta(\mathcal{T},\mathcal{R}) := \{ a \in \zeta : (a,\mathcal{T}a) \in \mathcal{R} \}.$ 

The following result is a relation-theoretic version of BCP:

**Theorem 2.1** ( [1,2]). Let  $(\zeta, d)$  be a metric space,  $\mathcal{R}$  a binary relation on  $\zeta$  and  $\mathcal{T}$  a self-mapping on  $\zeta$ . Suppose that the following conditions hold:

- (I)  $(\zeta, d)$  is  $\mathcal{R}$ -complete,
- (II)  $\mathcal{R}$  is  $\mathcal{T}$ -closed,
- (III) either  $\mathcal{T}$  is  $\mathcal{R}$ -continuous or  $\mathcal{R}$  is d-self-closed,
- $(IV) \ \zeta(\mathcal{T}, \mathcal{R})$  is nonempty,
- (V) there exists  $\eta \in [0, 1)$  such that

$$d(\mathcal{T}a, \mathcal{T}b) \leq \eta d(a, b) \ \forall \ a, b \in \zeta \ with \ (a, b) \in \mathcal{R}.$$

Then,  $\mathcal{T}$  has a fixed point. Moreover, if  $\zeta$  is  $\mathcal{R}^s$ -connected, then  $\mathcal{T}$  has a unique fixed point.

Using the symmetry of d, we propose the following result:

**Proposition 2.1.** If  $(\zeta, d)$  is a metric space,  $\mathcal{R}$  is a binary relation on  $\zeta$ ,  $\mathcal{T}$  is a self-mapping on  $\zeta$  and  $\gamma \in \mathfrak{H}$ , then the following contractivity conditions are equivalent:

- (I)  $d(\mathcal{T}a, \mathcal{T}b) \leq \gamma(d(a, b))d(a, b) \ \forall \ a, b \in \zeta \ with \ (a, b) \in \mathcal{R},$
- (II)  $d(\mathcal{T}a, \mathcal{T}b) \leq \gamma(d(a, b))d(a, b) \ \forall \ a, b \in \zeta \ with \ [a, b] \in \mathcal{R}.$

## 3. Main Results

In this section, firstly we present our first result on the existence of fixed point.

**Theorem 3.1.** Let  $(\zeta, d)$  be a metric space,  $\mathcal{R}$  a binary relation on  $\zeta$ , and  $\mathcal{T}$  a self-mapping on  $\zeta$ . Suppose that the following conditions hold:

- (i)  $(\zeta, d)$  is a  $\mathcal{R}$ -complete metric space,
- (ii)  $\zeta(\mathcal{T}, \mathcal{R})$  is nonempty,
- (iii)  $\mathcal{R}$  is  $\mathcal{T}$ -closed and locally  $\mathcal{T}$ -transitive,
- (iv)  $\mathcal{T}$  is  $\mathcal{R}$ -continuous or  $\mathcal{R}$  is d-self-closed,
- (v) exists  $\gamma \in \mathfrak{H}$  such that for each  $a, b \in M$ ,

$$d(\mathcal{T}a, \mathcal{T}b) \leq \gamma(d(a, b))d(a, b) \quad \forall a, b \in \zeta \text{ with } (a, b) \in \mathcal{R}.$$

Then,  $\mathcal{T}$  has a fixed point.

**Proof.** From the condition (ii), there exists  $a_0 \in \zeta$  such that  $(a_0, \mathcal{T}a_0) \in \mathcal{R}$ . If  $\mathcal{T}(a_0) = a_0$ , then  $a_0$  is fixed point. Otherwise, we can choose  $a_1 \in \zeta$  such that  $\mathcal{T}(a_0) = a_1$ . Again we can choose  $a_2 \in \zeta$  such that  $\mathcal{T}(a_1) = a_2$ . Continuing this process, we can construct inductive sequence  $\{a_n\}$  such that

$$a_{n+1} = \mathcal{T}a_n. \tag{3.1}$$

In view of (i), we have a  $a_0 \in \zeta$  such that  $(a_0, \mathcal{T}a_0) \in \mathcal{R}$ , i.e.,  $(a_0, a_1) \in \mathcal{R}$ . Now  $(a_0, a_1) \in \mathcal{R}$  gives in view of  $\mathcal{T}$ -closedness of  $\mathcal{R}$ 

$$(\mathcal{T}a_0, \mathcal{T}a_1) \in \mathcal{R}$$
 i.e.,  $(a_1, a_2) \in \mathcal{R}$ .

Continuing this process, we get

$$(a_n, a_{n+1}) \in \mathcal{R} \quad \forall \ n \in \mathbb{N}_0.$$

$$(3.2)$$

Denote

$$\delta_n := d(a_n, a_{n+1})$$

Now,

$$d(a_{n+1}, a_{n+2}) = d(\mathcal{T}a_n, \mathcal{T}a_{n+1}) \le \gamma(d(a_n, a_{n+1}))d(a_n, a_{n+1}) \le d(a_n, a_{n+1})$$

so that

$$\delta_{n+1} \le \delta_n.$$

Then,  $\{\delta_n\}$  is a decreasing sequence and bounded below, so  $\lim_{n\to\infty} \delta_n = r \ge 0$ . If r > 0, then we have

$$\frac{\delta_{n+1}}{\delta_n} \le \gamma(\delta_n), \quad n = 1, 2, \cdots$$

which yields  $\lim_{n\to\infty}\gamma(\delta_n)=1$ . As  $\gamma\in\mathfrak{H}$ , we get r=0. Thus

$$\lim_{n \to \infty} \delta_n = 0.$$

Now, we show that  $\{a_n\}$  is a Cauchy sequence. On the contrary, assume that

$$\lim_{m,n\to\infty}\sup d(a_n,a_m) > 0.$$
(3.3)

By the triangle inequality

$$d(a_n, a_m) \le d(a_n, a_{n+1}) + d(a_{n+1}, a_{m+1}) + d(a_{m+1}, a_m).$$
(3.4)

As  $\mathcal{R}$  is locally  $\mathcal{T}$ -transitive, we have  $(a_m, a_n) \in \mathcal{R}$ . Applying assumption (v) and using (3.1), we get

$$d(a_{n+1}, a_{m+1}) = d(\mathcal{T}a_n, \mathcal{T}a_m) \le \gamma(d(a_n, a_m))d(a_n, a_m).$$

Hence, (3.4) becomes

$$d(a_n, a_m) \le (1 - \gamma(d(a_n, a_m)))^{-1} [d(a_n, a_{n+1}) + d(a_{m+1}, a_m)]$$

Since

$$\limsup_{m,n\to\infty} d(a_n,a_m) > 0$$

and

$$\lim_{n \to \infty} d(a_n, a_{n+1}) = 0$$

then,

$$\lim_{m,n\to\infty} \sup (1 - \gamma(d(a_n, a_m)))^{-1} = +\infty$$

which gives

But as  $\gamma \in \mathfrak{H}$ , we have

 $\limsup_{m,n\to\infty} \gamma(d(a_n,a_m) = 1.$  $\limsup_{m,n\to\infty} d(a_n,a_m) = 0$ 

which contradicts (v) hence  $\{a_n\}$  is a Cauchy sequence in  $\zeta$ . Since  $(\zeta, d)$  is a  $\mathcal{R}$ complete metric space, then there exists a  $c \in \zeta$  such that

$$\lim_{n \to \infty} a_n = c.$$

To prove that c is a fixed point of  $\mathcal{T}$ , we use assumption (iv).

Firstly, we assume that  $\mathcal{T}$  is continuous. Then, we have

$$c = \lim_{n \to \infty} a_n = \lim_{n \to \infty} \mathcal{T}^n(a_0) = \lim_{n \to \infty} \mathcal{T}^{n+1}(a_0) = \mathcal{T}(\lim_{n \to \infty} \mathcal{T}^n(a_0)) = \mathcal{T}(c),$$

hence  $\mathcal{T}(a) = a$ .

Now, suppose that  $\mathcal{R}$  is *d*-self-closed. As  $\{a_n\}$  is a  $\mathcal{R}$ -preserving sequence and  $a_n \xrightarrow{d} c$ , there exists a subsequence  $\{a_{n_k}\}$  of  $\{a_n\}$  with  $[a_{n_k}, a] \in \mathcal{R} \quad \forall \ k \in \mathbb{N}_0$ . On using triangular inequality, (e), Proposition 2.1,  $[a_{n_k}, c] \in \mathcal{R}$  and  $a_{n_k} \xrightarrow{d} c$ , we obtain

$$d(\mathcal{T}c,c) \leq d(\mathcal{T}a_{n_k},\mathcal{T}c) + d(\mathcal{T}a_n,c)$$
  
$$\leq \gamma(d(a_{n_k},c))d(a_{n_k},c) + d(a_{n_k+1},c)$$
  
$$\leq d(c,a_n) + d(a_{n_k+1},c).$$

Since  $d(c, a_{n_k}) \to 0$ , then we get  $\mathcal{T}(c) = c$ . Hence, c is a fixed point of  $\mathcal{T}$ .  $\Box$ Now, we prove a corresponding uniqueness result.

**Theorem 3.2.** In addition of Theorem (3.1), if  $\mathcal{T}(\zeta)$  is  $\mathcal{R}^s$ -connected, then  $\mathcal{T}$  has a unique fixed point.

**Proof.** Theorem (3.1) guarantees the existence of one fixed point of  $\mathcal{T}$ . If a and b are two fixed points of  $\mathcal{T}$ , then

$$\mathcal{T}^n(a) = a \text{ and } \mathcal{T}^n(b) = b \quad \forall \ n \in \mathbb{N}_0.$$

Clearly  $a, b \in \mathcal{T}(\zeta)$ . By assumption (vi), we have a path  $\{c_0, c_1, c_2, ..., c_k\}$  of finite length k in  $\mathcal{R}^s$  from a to b so that

$$c_0 = a, c_k = b \text{ and } [c_i, c_{i+1}] \in \mathcal{R} \text{ for any } i \ (0 \le i \le k-1).$$
 (3.5)

As  $\mathcal{R}$  is  $\mathcal{T}$ -closed, we have

$$[\mathcal{T}^n c_i, \mathcal{T}^n c_{i+1}] \in \mathcal{R} \text{ for any } i \ (0 \le i \le k-1) \text{ and } n \in \mathbb{N}_0.$$
(3.6)

Now, for all  $n \in \mathbb{N}_0$  and for any  $i \ (0 \le i \le k-1)$ , define

$$t_n^i = d(\mathcal{T}^n c_i, \mathcal{T}^n c_{i+1}).$$

We show that

$$\lim_{n \to \infty} t_n^i = 0. \tag{3.7}$$

Further, suppose that  $t_{n_0}^i = d(\mathcal{T}^{n_0}c_i, \mathcal{T}^{n_0}c_{i+1}) = 0$  for some  $n_0 \in \mathbb{N}_0$ , *i.e.*  $\mathcal{T}^{n_0}(c_i) = \mathcal{T}^{n_0}(c_{i+1})$ , which implies that  $\mathcal{T}^{n_0+1}(c_i) = \mathcal{T}^{n_0+1}(c_{i+1})$ . Consequently, we get  $t_{n_0+1}^i = d(\mathcal{T}^{n_0+1}c_i, \mathcal{T}^{n_0+1}c_{i+1}) = 0$ . Thus by induction, we get  $t_n^i = 0 \,\forall n \geq n_0$ , yielding thereby  $\lim_{n \to \infty} t_n^i = 0$ . Now, suppose that  $t_{n_0}^i > 0 \,\forall n \in \mathbb{N}_0$ , then on using (3.1), assumption (v) and Proposition 2.1, we obtain

$$\begin{aligned} t_{n+1}^{i} &= d(\mathcal{T}^{n+1}c_{i}, \mathcal{T}^{n+1}c_{i+1}) \leq \gamma(d(\mathcal{T}^{n}c_{i}, \mathcal{T}^{n}c_{i+1}))d(\mathcal{T}^{n}c_{i}, \mathcal{T}^{n}c_{i+1}) \\ &= \gamma(t_{n}^{i})t_{n}^{i} \leq t_{n}^{i} \end{aligned}$$

so that

$$t_{n+1}^i \le t_n^i.$$

Hence, we obtain  $\lim_{n \to \infty} t_n^i = 0$ . Thus, (3.7) is proved for each  $i \ (0 \le i \le k-1)$ . Now, using (3.7), we get

$$d(a,b) = d(\mathcal{T}^n c_0, \mathcal{T}^n c_k) \le t_n^0 + t_n^1 \dots + t_n^{k-1}$$
  
  $\to 0 \quad \text{as} \quad n \to \infty$ 

which gives a = b. Hence,  $\mathcal{T}$  has a unique fixed point.

**Corollary 3.1.** In addition of Theorem 3.1, if one of the following conditions hold:

- (i)  $\mathcal{T}(\zeta)$  is  $\mathcal{R}^s$ -directed, or
- (ii)  $\mathcal{R}|_{\mathcal{T}(\zeta)}$  is complete.

Then,  $\mathcal{T}$  has a unique fixed point.

**Proof.** If condition (i) holds, then for each  $a, b \in \mathcal{T}(\zeta)$  we have  $c \in \zeta$  such that  $[a, c] \in \mathcal{R}$  and  $[b, c] \in \mathcal{R}$  hence  $\{a, c, b\}$  is a path of length 2 in  $\mathcal{R}^s$  from a to b. Hence,  $\mathcal{T}(\zeta)$  is  $\mathcal{R}^s$ -connected and via Theorem 3.2, we are done.

Now if condition (ii) holds, then for each  $a, b \in \mathcal{T}(\zeta)$ ,  $[a, b] \in \mathcal{R}$ , which yields that  $\{a, b\}$  is a path of length 1 in  $\mathcal{R}^s$  from a to b so that  $\mathcal{T}(\zeta)$  is  $\mathcal{R}^s$ -connected. In view of Theorem 3.2, the conclusion follows.

**Remark 3.1.** Notice that under the universal relation  $\mathcal{R} = \zeta^2$ , Theorem 3.2 reduces to the Theorem 1.1.

**Remark 3.2.** Under the relation,  $\mathcal{R} = \preceq$ , the partial order, we obtain the fixed point theorem of Amini-Harandi and Emami [9].

## 4. Application to ordinary differential equations

Consider the periodic boundary value problem

$$\begin{cases} v'(p) = g(p, v(p)) & \text{if } p \in I = [0, T], \\ v(0) = v(p), \end{cases}$$
(4.1)

where T > 0 and  $g: I \times \mathbb{R} \to \mathbb{R}$  is a continuous function.

Now, we prove the existence of solution for the problem (4.1) in presence of a lower solution.

Let  $\mathfrak{A}$  denote the class of those  $\rho: [0,\infty) \to [0,\infty)$  which satisfies the following conditions:

- (i)  $\rho$  is increasing.
- (*ii*) for each a > 0,  $\rho(a) < a$ ,
- (iii)  $\gamma(a) = \frac{\rho(a)}{a} \in \mathfrak{H}.$

**Example**:  $\rho(p) = vp$ , where  $0 \le v < 1$ ,  $\rho(p) = \frac{p}{1+p}$  and  $\rho(p) = \ln(1+p)$  are in  $\mathfrak{A}$ .

**Theorem 4.1.** Consider problem (4.1) with g continuous and suppose that there exists  $\lambda > 0$  such that for  $a, b \in \mathbb{R}$  with  $b \ge a$ 

$$0 \le g(p,b) + \lambda b - [g(p,a) + \lambda a] \le \lambda \rho(b-a),$$

where  $\rho \in \mathfrak{A}$ . Then, the existence of a lower solution for(4.1) provides the existence of a unique solution of (4.1).

**Proof.** Problem (4.1) is equivalent to the integral equation

$$v(p) = \int_0^T \mathcal{K}(p,q) [g(q,v(q) + \lambda v(q)] dq,$$

where

$$\mathcal{K}(p,q) = \begin{cases} \frac{e^{\lambda(T+q-p)}}{e^{\lambda T-1}} & 0 \le q$$

Define  $\mathcal{F}: C(I, \mathbb{R}) \to C(I, \mathbb{R})$  by

$$(\mathcal{F}v)(p) = \int_0^T \mathcal{K}(p,q) [g(q,v(q)) + \lambda v(q)] dq.$$

Note that if  $v \in C(I, \mathbb{R})$  is a fixed point of  $\mathcal{F}$  then  $v \in C^1(I, \mathbb{R})$  is a solution of (4.1).

Define a binary relation as follows:  $a, b \in C(I, \mathbb{R})$ ,  $(a, b) \in \mathcal{R}$  if and only if  $a(p) \leq b(p)$ , for all  $p \in I$ .

Observe,  $(C(I, \mathbb{R}), d)$  is a  $\mathcal{R}$ -complete metric space with respect to

$$d(a,b) = \sup_{p \in I} |a - b|, \quad a, b \in C(I, \mathbb{R}).$$

To show  $\mathcal{R}$  is  $\mathcal{F}$ -closed, take  $(v, w) \in \mathcal{R}$ 

$$g(p, v) + \lambda v \ge g(p, w) + \lambda w$$

which implies for  $p \in I$ , using that  $\mathcal{K}(p,q) > 0$  for  $(p,q) \in I \times I$ , that

$$\begin{split} (\mathcal{F}v)(p) &= \int_0^T \mathcal{K}(p,q) [g(q,v(q)) + \lambda v(q)] dq \\ &\geq \int_0^T \mathcal{K}(p,q) [g(q,w(q)) + \lambda w(q)] dq = (\mathcal{F}w)(p) \end{split}$$

Hence,  $(\mathcal{F}v, \mathcal{F}w) \in \mathcal{R}$ . Now,

$$d(\mathcal{F}v, \mathcal{F}w) = \sup_{p \in I} |(\mathcal{F}v)(p) - (\mathcal{F}w)(p)|$$

$$\leq \sup_{p \in I} \int_0^T \mathcal{K}(p,q) [g(q,v(q)) + \lambda v(q) - g(q,w(q)) - \lambda w(q)] dq \leq \sup_{p \in I} \int_0^T \mathcal{K}(p,q) . \lambda \rho(v(q) - w(q)) dq.$$

As the function  $\rho(a)$  is increasing and  $v \geq w$  then  $\rho(v(q)-w(q)) \leq \rho(d(v,w)),$  we obtain

$$\begin{split} d(\mathcal{F}v, \mathcal{F}w) &\leq \sup_{p \in I} \int_0^T \mathcal{K}(p, q) \cdot \lambda \rho(v(q) - w(q)) dq \\ &\leq \lambda \cdot \rho(d(v, w)) \cdot \sup_{p \in I} \int_0^T \mathcal{K}(p, q) dq \\ &= \lambda \cdot \rho(d(v, w)) \cdot \sup_{p \in I} \frac{1}{e^{\lambda p} - 1} \left( \frac{1}{\lambda} e^{\lambda (T + q - p)} \right]_0^p + \frac{1}{\lambda} e^{\lambda (q - p)} \right]_p^T \right) \\ &= \lambda \cdot \rho(d(v, w)) \cdot \frac{1}{\lambda (e^{\lambda T} - 1)} (e^{\lambda T} - 1) = \rho(d(v, w)) \\ &= \frac{\rho(d(v, w))}{d(v, w)} d(v, w) = \gamma(d(v, w)) d(v, w). \end{split}$$

Finally, let  $\eta(p)$  be a lower solution for (2.1) and we will show that  $\eta \leq \mathcal{F}\eta$ . Indeed,

$$\eta'(p) + \lambda \eta(p) \le g(p, \eta(p)) + \lambda \eta(p), \text{ for } p \in I.$$

Multiplying by  $e^{\lambda p}$ , we get

$$(\eta(p)e^{\lambda p})' \le [g(p,\eta(p)) + \lambda\eta(p)]e^{\lambda p}, \text{ for } p \in I$$

and this gives us

$$\eta(p)e^{\lambda p} \le \eta(0) + \int_0^p [g(q,\eta(q)) + \lambda\eta(p)]e^{\lambda q}dq, \quad \text{for} \quad p \in I$$
(4.2)

which implies that

$$\eta(0)e^{\lambda T} \leq \eta(T)e^{\lambda T} \leq \eta(0) + \int_0^T [g(q,\eta(q)) + \lambda \eta(q)]e^{\lambda q} dq$$

and so

$$\eta(0) \le \int_0^T \frac{e^{\lambda q}}{e^{\lambda T} - 1} [g(q, \eta(q)) + \lambda \eta(q)] dq.$$

From this inequality and (4.2), we obtain

$$\eta(p)e^{\lambda p} \leq \int_0^p \frac{e^{\lambda(T+q)}}{e^{\lambda T}-1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda q}}{e^{\lambda T}-1} [g(q,\eta(q)) + \lambda \eta(q)] dq$$

and consequently

$$\eta(p) \le \int_0^p \frac{e^{\lambda(T+q-p)}}{e^{\lambda T} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda T} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda T} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda T} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda T} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda T} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda T} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda T} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda T} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda T} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda T} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda T} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda T} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda T} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda T} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda T} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda T} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda T} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda T} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda T} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda T} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda T} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda T} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda T} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda T} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda T} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda(q-p)} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda(q-p)} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda(q-p)} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda(q-p)} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda(q-p)} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda(q-p)} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda(q-p)} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T \frac{e^{\lambda(q-p)}}{e^{\lambda(q-p)} - 1} [g(q,\eta(q)) + \lambda \eta(q)] dq + \int_0^T$$

Hence,

$$\eta(p) = \int_0^T \mathcal{K}(p,q) [g(q,\eta(q)) + \lambda \eta(q)] dq.$$

Finally, Corollary (3.1) gives that  $\mathcal{F}$  has a unique fixed point.

2796

## 5. Conclusion

In this study, we established a new fixed point theorem for Geraghty contraction in a metric space equipped with a binary relation  $\mathcal{R}$ . In Classical contraction, we checked the condition on all elements of domain but in Relation theoretic, we checked on those elements who are comparable. Also, we provided an application to solve the periodic boundary value problem, our result generalized and improved the results of Geraghty [8], Amini-Harandi and Emami [9].

# Acknowledgment

Authors are very thankful to the learned referees for their insightful remarks and for pointing out several errors.

**Funding.** Princess Nourah bint Abdulrahman University Researchers Supporting Project number (PNURSP2023R216), Princess Nourah bint Abdulrahman University, Riyadh, Saudi Arabia.

Institutional Review Board Statement. Not applicable.

Informed Consent Statement. Not applicable.

Data Availability Statement. Not applicable.

Conflicts of Interest. The authors declare no conflict of interest.

#### References

- A. Alam and M. Imdad, *Relation-theoretic contraction principle*, J. Fixed Point Theory Appl., 2015, 17(4), 693–702.
- [2] A. Alam and M. Imdad, Relation-theoretic metrical coincidence theorems, Filomat, 2017, 31(14), 4421–4439.
- [3] A. Alam and M. Imdad, Nonlinear contractions in metric spaces under locally T-transitive binary relations, Fixed point Theory, 2018, 19, 13–24.
- [4] A. Alam and M. Imdad, Nonlinear contractions in metric spaces under locally T-transitive binary relations, Fixed Point Theory, 2018, 19(1), 4421–4439. DOI: 10.24193/fpt-ro.2018.1.02.
- [5] M. Ahmadullah, A. R. Khan and M. Imdad, *Relation theoretic contraction principle in metric-like spaces*, Bulletin of Mathematical Analysis and Applications, 2017, 9(3), 31–41.
- [6] M. Ahmad, A. Zada, M. Ghaderi, R. George and S. Rezapour, On the existence and stability of a neutral stochastic fractional differential system, Fractal and Fractional, 2022, 6(4), 203, 1–16.
- [7] J. Chen, C. Zhu and I. Zhu, A note on some fixed point theorems on G-metric spaces, Journal of Applied Analysis and Computation, 2021, 11(1), 101–112.
- [8] M. Geraghty, On contractive mappings, Proc. Amer. Math. Soc., 1973, 40, 604–608.
- [9] A. A. Harandi and H. Emami, A fixed point theorem for contraction type maps in partially ordered metric spaces and application to ordinary differential equations, Nonlinear Anal., 2010, 72(5), 2238–2242.

- [10] B. Kolman, R. C. Busby and S. Ross, Discrete mathematical structures, Third Edition, PHI Pvt. Ltd., New Delhi, 2000.
- [11] S. Khatoon, I. Uddin and D. Baleanu, Approximation of fixed point and its application to fractional differential equation, J. Appl. Math. Comput., 2021, 66, 507–525.
- [12] S. Lipschutz, Schaum's outlines of theory and problems of set theory and related topics, McGraw-Hill, New York, 1964.
- [13] J. J. Nieto and R. Rodríguez-López, Contractive mapping theorems in partially ordered sets and applications to ordinary differential equations, Order, 2005, 22(3), 223–239.
- [14] M. Nazam, H. Aydi and A. Hussain, Existence theorems for (ψ, φ)-orthogonal interpolative contractions and an application to fractional differential equations, Optimization, 2022. DOI: 10.1080/02331934.2022.2043858.
- [15] A. C. M. Ran and M. C. B. Reurings, A fixed point theorem in partially ordered sets and some applications to matrix equations, Proc. Amer. Math. Soc., 2004, 132(5), 1435–1443.
- [16] A. F. Roldán-López-de-Hierro, E. Karapinar and M. de-la-Sen, Coincidence point theorems in quasi-metric spaces without assuming the mixed monotone property and consequences in G-metric spaces, Fixed Point Theory Appl., 2014, 2014(1), 1–29. DOI: 10.1186/1687-1812-2014-184.
- [17] B. Samet and M. Turinici, Fixed point theorems on a metric space endowed with an arbitrary binary relation and applications, Commun. Math. Anal., 2012, 13(2), 82–97.
- [18] N. Saleem, U. Ishtiaq, L. Guran and M. Felicia Bota, On graphical fuzzy metric spaces with application to fractional differential equations, Fractal and Fractional, 2022, 6(5), 238. DOI: 10.3390/fractalfract6050238.
- [19] M. Turinici, Contractive maps in locally transitive relational metric spaces, The Sci. World J., 2014. DOI: 10.1155/2014/169358.
- [20] M. Turinici, Contractive Operators in Relational Metric Spaces, ser. Handbook of Functional Equations (Springer Optimization and Its Applications), T. M. Rassias, Ed. Springer, 2014. DOI: 10.1007/978-1-4939-1246-9 18.
- [21] I. Uddin, C. Garodia and T. Abdeljawad, Convergence analysis of a novel iteration process with application to a fractional differential equation, Adv. Cont. Discr. Mod., 2022, 2022(16). DOI: 10.1186/s13662-022-03690-z.
- [22] C. Zhu, J. Chen, C. Chen and H. Huang, A new generalization of F-metric spaces and some fixed point theorems and an application, Journal of Applied Analysis and Computation, 2021, 11(5), 2649–2663.